· Old Exam 1 Problems on Pole-Zero (ancellation

The old problems center on the interesting result that the following two difference equations have the same Transfer Function H(2) due to a pole-zero cancellation

System 1: 45 [-27] = e' 27 [n-1] + x[n] -x[n-N]

L, integer; N>L integer

Note: System 1 requires 1 complex multiply
per output point, while System 2 requires N-1
multiplies per output Point

$$H_1(z)$$
 for System 1:
 $H_1(z) = \frac{1-z^{-N}}{1-z^{-N}}$

$$H_{2}(3) = \sum_{k=0}^{N-1} e^{j2\pi k} = \sum_{k=0}^{N-1} (e^{j\pi k} z^{-1})$$

$$H'(s) = \frac{s_{-1}(s-e_{j,surphi})}{s_{-1}(s-e_{j,surphi})}$$

· Zeroes are roots of = == 1, which are

equi-spaced around the unit circle:

. Thus, the pole at PR = e' The cancels

Frequency Response:

$$H(\omega) = H(z) = \frac{1 - e^{-j\omega \pi}}{1 - e^{j2\pi R}e^{-j\omega}}$$

$$= \frac{e^{-j\frac{N}{2}\omega}}{e^{-j\frac{N}{2}(\omega-\frac{2\pi N}{N})}} = \frac{1}{e^{-j\frac{N}{2}(\omega-\frac{2\pi N}{N})}} = \frac{e^{-j\frac{N}{2}(\omega-\frac{2\pi N}{N})}}{e^{-j\frac{N}{2}(\omega-\frac{2\pi N}{N})}} = \frac{1}{e^{-j\frac{N}{2}(\omega-\frac{2\pi N}{N})}}$$

Similarly:
$$\sin\left(\frac{N}{2}(\omega - \frac{1}{2}\frac{2\pi}{N})\right)$$

$$= \sin\left(\frac{N}{2}\omega - \frac{1}{2}\pi\right) = (-1)^{\frac{1}{2}}\sin\left(\frac{N}{2}\omega\right)$$

$$= \sin\left(\frac{N}{2}\omega - \frac{1}{2}\pi\right) = (-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\right)^{\frac{1}{2}} = (-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\right)^{\frac{1}{2}} = (-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\right)^{\frac{1}{2}} = (-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\right)^{\frac{1}{2}} = (-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\right)^{\frac{1}{2}} = (-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\right)^{\frac{1}{2}} = (-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\right)^{\frac{1}{2}} = (-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\left((-1)^{\frac{1}{2}}\right)^{\frac{1}{2}$$

Recall: y(n)= 2 e n n x(n-k) 6 しゃけ べいりょういい きょうかいしょう ト(n): ごej?n号化's(n・化) The coefficients of an FIR difference equation are the values of the impulse response. Thus: LENJ = eizn# [u[n] - u[n-N]} . H(w) => use modulation proporty and DTFT of rectangular window WR [n]= u[n] - u[n-N]

Table 4.6 on Pg. 291 has DTFT of rectangular window centered at origin n=0. Reguires Nodd.

- · Assume Noddy generalize result later
- Since w [h] starts at h=0, need to shift 2^{nd} entry in Table 4.6 to right by $n_0 = \frac{N-1}{2}$
- · Time-Shift Proporty applied to DTFT pair:

$$u\left(n+\frac{N-1}{2}\right)-u\left(n-\frac{N-1}{2}\right) \stackrel{Sin}{=} \frac{\left(\frac{1}{2}\omega\right)}{Sin\left(\frac{1}{2}\omega\right)}$$

- => 2nd entry in Table 4.6 with L= N=1 => N= 2(+)
 => N is "length" of window
- $\omega_{R}(n) = \omega(n) \omega(n \cdot n) \text{ is } \left\{ \omega(n + \frac{n}{2}, 1) \omega(n \frac{n}{2}, 1) \right\}$

shifted to the right by ho= 17-1, THUS

AL COLOGRAM MEDICALISMA SONO DE LA CARRENCIA D

$$W_{\kappa}(u) \leftarrow \longrightarrow W_{\kappa}(w) = G_{j} = G_{j} = G_{j} = G_{j} = G_{j}$$

$$Sin\left(\frac{5}{5}w\right)$$

sin (2 w)

· Now, apply modulation property (8)
· h(h) = ej 27 th n Writh) DTFT

· (N-1) (w-27th)

 $H(\omega) = e^{-j\frac{(N-1)}{2}(\omega-2\pi)} = e^{-j\frac{(N-1)}{2}(\omega-2\pi)} = sin(\frac{1}{2}(\omega-2\pi))$

CHECKS! V

Note: This result holds for N odd as well

This a "crude" bandpass filter contered at we = 27 &= R 2TT

· Recall: H(z)= = = = (zn-1)

and discussion on 128. 3

equi-spaced around unit circle 3, = ei & 27 for Q=0313 ... , N-1 · Sure enough, one can verily that H (w) = 0 for wo = 2 2 for l=0515..., NI-1 1 キ れ for h=0: (ignoring) Sact. S.4.S)
Comb Filters

Time-Domain Method of Determining Impulse Response of Difference Eqn Ithat has a Pole-Zero Cancellation

. Iterate recursively to find impulse response

$$L[0] = ah[-0] + 1 + 0 = 1$$

 $L[0] = ah[0] + 0 + 0 = a$

$$L[D-1] = a^{-1} + 0 + 0 = a^{-1}$$

$$L[D] = a L[D-1] - a^{D}(1)$$

$$= a a^{D-1} - a^{D} = a^{D} - a^{D} = 0$$